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PART -1

H -1

A wall measuring 9 m long, 6 m high and
20 cm broad is made out of bricks
measuring 30 cmXx 15 cmX 10 cm then
the number of bricks used will be :

(A) 3200
(B) 2400
(C) 2800
(D) 3600

After 10274 constitutional amendments
how many articles are in the Indian
constitution ?

(A) 444 .
(B) 458

“Which of the f Q country will be

the host en T-20 World
Cup 2018 ?

(A) Australia
(B) England
(C) West Indies

(D) India

(C) 395 ,&Q
(D) 423 \

o w1, onall, 6 HY. Sl qen 20 S W Th
ram 30 A x 15 T x 10 [, fomed
1 £} w1 A HE I S © d gl ol

F@T%‘}Fﬂ' :

(A) 3200 |

(B) 2400 @

(C) 2800 0

(D) 3609 ()

10 HINeA ¥ TYEN ANAE
[ ferer 3T=RR © 2

60 (A) 444

(B) 458
(C) 395
(D) 423

2018 & fret H @ wiwen w wfgen 420
forsashg a1 HSTe 81T 2

(A) et
(B) FTIUS
(C) = T

(D) “Rd
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In which year social forestry is introduced

for tree plantation in India ?
(A) In the year 1981-82

IRd W gEIRIT0 % faw @it anfeht
fore g uRwy foran e ?

(A) a9 1981-82

(B) In the year 1985-86
(©) In the year 1990-91
(D) In the year 2000-2001

Who was the leader of revolutionary
activities in  America  during
Independence movement ?

(A) V.D. Savarkar

(B) Sardar Singh Rana

(C) Lala Hardayal

(D) Periyar E.V. Ramaswamy

A moves 1 km towards north, turns r
and moves 1 km, turns left and m
1 km, turns left and moves 1 km, e

distance and direction fro
position are :

(A) 2 km, North &
(B) 2 km, South \\

(C) 1km,N

(D)

D) 1 k
A tel&broadcast is an example of
transmission.

(A) Simplex
(B) Duplex
(C) Half - duplex
(D) Full - duplex

(B). =H 1985-86
(C€) =¥ 1990-91
(D) =&d 2000-2001

Afen H, AT EEal SAlee % 99,
shifaerit iafafi T o1 ?

(A) aﬁgaﬂ
(B)? TRz Tl

( B

@ £, e

A S 3R 1 fr . s g, <fen gee
1 fop. . wetan €, o9 geet 1 TR =er
g, o geee 1 T wo ®, 79 Rfas
feorfs & o g we fewn @ -

(A) 2 fedl, s
(B) 2 fer.A., afamr
(C) 1 femAL, S
(D) 1 T, afao

ESlIESER TR

2l

(A) Simplex

(B) Duplex

(C) Half - duplex
(D)  Full - duplex

RO ] TR

SPACE FOR ROUGH WORK / T% &Td & {e1d S8

Set- A

8120/ HE-FI/RCE-E




8.  Silent Valley national park is situated : 8.  WrEeIve ol U urh fohw U W Reud 272

(A) Tamil Nadu (A) dfHerTg
(B) Kerala - (B) & —
(C) Andhra Pradesh (C) 3TFY W
(D) Karnataka (D) wAlEH
9. Which of the following cannot be a 9. Tr=ifea demsll & ¥ si=d den g
number of the series: ... , 64, 125, 216, 343,512, ....... Ealer]
...... , 64, 125, 216, 343, 512, ....... ? 2?2
(A) 8 (A) 8 O
(B) 27 (B) 27 ()
) 729 (@) 29 o
(D) 999 (b
10. TAN FAN MAN means Ram is going. N FAN MAN T 21ef § T S 1

VAN SAN LAN TAN MAN means AbhaQ AN SAN LAN TAN MAN &1 314 & 3741
and Ram are going. RAN FAN pAQ i Tm ST €1 RAN FAN DAN o1 319 §
means Sita is coming. Then which diar st &1 a9 fr= ° @ foreen o7 B

following will mean Ram gn 3 T 3R Hiar o1 §?

going ?

(A) MAN FANTA &AN (A) MAN FAN TAN DAN RAN
(B) MAN VAN R4 X\! TAN (B) MAN VAN RAN SAN TAN
(C) TAN VA SAN MAN (C) TAN VAN RAN SAN MAN
(D) LAN SAN TAN (D) LAN VAN RAN SAN TAN

11. The Sur&wea of acubeis 96 cm? then  11. 4 T ¥ 1 H1 TSI &% 96 |27

the volume of the cube will be : Al 5 R 3T BT ¢
(A) 36 cm® (A) 36 QA3
(B) 56 cm® (B) 56 €.HI.3
(C) 16 cm® () 16 QA2
(D) 64 cmd (D) 64 QL3
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12,

Who was the Speaker of Interim 12.

Parliament (1947-50) ?

(4)

Dr. Rajendra Prasad

13.

14.

(B)
©
(D)

To make the number pad act as a 13.

Mavlankar
Dr. B.R. Ambedkar
J.L. Nehru

directional arrow, we press

(A)
(B)
©
(D)

Num lock
Caps lock
Ctrl

Shift

3Tt THg (1947 - 50) % i A 4 ?

2OV

“Patang Utsav” in this state is asso
with which of the festival ?

(A) Tl T8 g8

(B) HEwHT

(C) TI IR TTH
(D) S.UE. T5F

~—

Number pad T d@l arrow % ®9
¥ wrl O ¥ @____ pekachd
(A) Num 1@)
(B) otk

I

Shift

T O udn Scga ! e ier 8 Heifra
g?

(A) Deepavali Q (A) <ot
(B) Holi 6 (B) Bl
(C) Makar Sankramx (C) ¥R il
- (D) None of * (D) IR H HE T
&K
15. India’s ﬁxwﬁnery is : 15. R % Y9 T LA Fal § 2
(A) Noonmati (A) TAHET
(B) Koyali (B) <hrarel
(C) Digboi ) femerd
(D) Bongaigaon (D) @rmEma
SPACE FOR ROUGH WORK / 1% &hTd & ol 991
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16. Notebook, laptop, palm top, hand-held 16. Notebook, laptop, palm top, hand-held

computers are coming under the category 0 AN 9ot % &R H o g
of ______ computer. )
— " (A) Digifal computer (A) Digital computer ]
(B) Mainframe computer (B) Mainframe computer
(C) Portable computer (C) Portable computer
(D) Analog computer (D) Analog computer
17. A search engine is a program to search : 17. 9 3= Th 9O DI (1
€| O
(A) for information (A) g3 ()
(B) web pages (B) 3 .
(C) web pages for specified index terms (C SR & f?le EERE]
(D) web pages for information using w9 gt A & foe o9 1

specified search term

18. Example of open source operating syste oy Wil ermifE foawew w1 SarERw
is: L % |

(A) UNIX (A) UNIX

(B) LINUX /& (B) LINUX
(C) WINDOWS \

(C) WINDOWS

(D) Both (A) and (§) ~ * (D) (A) 3R (B) T
19. If (20)° igs d from square of a 19, ue Hem F Al H A (20) TS W 4321 T
number and\the result is 4321 then the T A 55 g A
number will be :
(A) 110 ' (A) 110
(B) 111 (B) 111
© 12 ) 112
(D) 113 (D) 113

'SPACE FOR ROUGH WORK / T% @l & o sig
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20. Bromineis: 20. SHAE:
- (A) aliquid and metal , (A) Tsh od qa1 Hg
(B} aliquid and non-metal (B) Ueh g9 qAT MG
(€) a liquid and metal at room (C) R % AYAM T Th 29 a7 U1
temperature
(D) a liquid and solid at room (D) & % AYHM T TH 29 4T 3
temperature
21.  According to the figure given below, three 21. A& gd A, BaaC

circles A, B and C touch one another. The e TR k] AQM B |
radii of circles A and B are (\/§+1) cm Y hi 1) YAl § Sefw S
each, whereas the radius of small circle o C 1‘13.'@. ¥ o s &9 =

C is 1 cm, then the perimeter of the
shaded portion will be :

(A) % (2v2-1) 9L
-(B) g (24+/2) cm | (B) —g— (2+2) 8.
© % (2++2)cm ©) g (2+2) B.A.
(D) % (2-v2) em (D) 715 (2—/2) 9
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Set - A 8 8120/ HE-FI/RCE-E




22,

A larger area of ‘Abujhmad’, a tribal belt,
comes under which of the following

22,

T S T2, ‘stegre’ o sAfusean

AT & fAfafead g fpmfaa s

—disfrict of this state ?

23.

24,

25.

(A) Dantewada
(B) Sukma

(C) Narayanpur
(D) Kondagaon

The term ‘Procedure established by Law’
is provided in the chapter of
in the Constitution of India.

(A) Fundamental Rights

(B) Union Executive

(C) Union Legislature

(D) Union Judiciary

L 4

(A) Varuna &Q
(B) Savitri \

(C) Usha .

(D) Kalindi \Q‘

Who of the owing of the Kalchuri

dynasty of this state had surrendered
before the Maratha Commander Bhaskar
Pant in 1741 ?

(A) Raghunath Singh
(B) Amar Singh

(C) Bhanu Singh

(D) Raj Singh

23.

25.

o)

Who was not the deity of the period
“Rigveda” ?

AT ?

(A) TETE
(B) g&HT

(C) YR
(D) wiewma

ORI gfau & @ I o

‘fafy gra BICHCNIICR I RG]
R Ry
(A)
(B)
T Seenfient
el =rifersht

‘e I o <Al BiF E 92

(A) =T
(B) wfersit
(C) 3m
(D) it

1741 8. ¥ 39 {9 & Hagi TSas &
frafafea & 9 foraa wuet amfa aresdd
& THeT ATHTHYur e feam an ?

(A) T fEE
(B) 3T &g
(C) vy fee
(D) T &g
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26. Which of the following river does not flow 26. i G e ferrae wew © yenfea AE e 2 ¢

in Himachal Pradesh ?

(A)  Thelum (A) @em
(B) Chenab (B) fa =
(C) Ravi (C) et
(D) Satlyj (D) HdeTSt
27. Manushi Chhillaristhe Indian 27. AH Reer _ Q R w1 foa
to win Miss World title. Yedi o1 fagre ‘J"l@'! T
*
(A) Fourth (A) -v:?rﬂq
(B) Fifth (B) %
(C) Sixth [
(D) Seventh Q)) et
O
28. In the given diagram, AB || 8. ¥ TE oTid H AB, EF q9 CD W& THIH
given DC=18 cm, GE=5 Cm& 10 g1 feon ® DC=18 9.7, GE=5 @Al qe
cm, then EF will be : GC =10 9.4, & EF =1 O B0 :
A\
A R A
\ D ; D
E
G
™~
B F C ‘ B F C
(A) 11 cm (A) 11 |4
(B) 5cm (B) 59
(C) 6cm (C) 69
(D) 9cm (D) 9dHL

SPACE FOR ROUGH WORK / T% &1 & ol Siie
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29. As Sun is related to ellipse, similarly ~ 29. S g Srefga ¥ Haifea TR A TR
related is :
(A) Artificial Satellite to parabola (K)—?%lﬁw—@— =
(B) Moon to ellipse (B) ifg el &
(C) Earth to straight line (C) gt W @ ¥
(D) Stars to hyperbola (D) I Ffqae 4
30. Typhoid is caused by : 30, ZEHES H FRUE : @
(A) Salmonella Typhi (A) WEHH 0
(B) Straphyococcus (B) EfmetelHy,
(C) Bacillus (C)
(D) None of the above (D) T
31. Which of the following Honour (award) T g widerd i o & # fafafea
is given by this state every year in the field 0 ¥ § H T (TEER) e fear S
of music ? ®?
(A) Raja Chakradhar Singh/QQ (A) ST ERER g gaH
(B) Bhatkhande Award \ (B) TGS THM )
(C) Dr. Arun Sen A Yc\ (C) . 3Teu ¥ FHA
(D) Budhadity@ez Award (D) FgIe gEsi T
32. Which sectﬁ contributed most 32, @ 2017-18 % ST.EL. o fwa € &
towards GDP in the year 2017-18 ? aAfeRa™ ATEE 17 2
(A) Agriculture (A) BT
" (B) Industrial (B) it
C) Service Sector ©) a &3 .

None of above

(
(D)

(D) Suler § A T
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33. Which natural resource is more needed 33. YRA T W & faera & foae &F @ mefas
to develop industry in India ? T i ST STl © 2
(A) Land (A) =
(B) Minerals (B) @fst gard
(C) Water (€) S«
(D) Al the above (D) 3wda |t @
X
2
34, abc_d_bc_d_b cda 34. abc_d_b da
(A) bacde ( cde
(B) cdabe OQ cdabe
() dacab % (C) dacab
(D) dacdb &Q (D) dacdb
.
35 Pamed sanctuary % edin: 35 TS STWRVY hi TG I T :
(A) 1981 Q (A) 1981
(B) 1982 (B) 1982
(C) 1983 (C) 1983
(D) 1984 (D) 1984
SPACE FOR ROUGH WORK / 1% @1 o & srmg
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36, ‘oI’ R T o W €7 41. Idid thework

Ay = (A) myself
(B) hICH (B self
© G5l (C) yourself
(D) eTAl (D) himself
37. ‘‘wfed i T A Easicic f@?ﬂ@ 42. Sheisverygood _ singing.
=1 <l A §1"' g TR 8 1 A 2 (A) on
(A) Tre=EETEeE e B) of @
(B) HeH= AT 0

(C) Hepayah AT

(
(D) fafis e () for %\'
38, Frefh ﬁ‘eﬁqmmgﬁmﬁqﬁ%? 43. The fe r called
(A) Y
(B) wH @ ear
(©) = . doe
(D) 2 % (D) deeress

39, T I o HE & 44. Which is the correctly spelled word ?
. (A) Mysteraous

(A) fowHedeg
(B) formehtioang . (B) Mysterious
© o \\ (C) Mystirious
(D) m (D) Mysterius
40. ‘‘afem’ veg w1 vEtEerE © 45. The opposite of commonis
(A) T (A) rich
(B) Sferdt (B) rare
(©) w4 (C) secret
(D) &% (D) few

SPACE FOR ROUGH WORK / T &t & fordl e
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46.

BTG IS e’ 1 Fr A 72 49, U TEA S e el 9 R day

82
(A) suERM
(B) foue (A) I AT
©) wedfs
_ (B) IRM g
(D) gereT-vae @
(C) diem &g 0
47. ‘GidY' THE STV T S © ‘\0
&) T (D)@mﬁﬁ
(B) A W @
(© WA ° O
D) FWR &Q% 50. @?ﬂw@%ﬁt{mwwaﬁmmgﬁ
48.

e @ﬁﬁﬁﬁfﬂﬂﬂ'@ (A) 1889
FRAAE? f&

(A) SISIHIEI, BTG (B) 1890

(B) TaE, SEel, BTG ;
(C) 1899
(C) sraell, s, At

(D) e, gadl, BHrETE (D) 1900

SPACE FOR ROUGH WORK / T% &1 & o/t Sg
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PART - 1I ’ T - 11

~ RELATED TO STATISTICS AifiEreh! [aus 9 arsiegd

51.

52.

Infant mortality rate is related with the 51. ﬁT’ﬂ CIRY 1 W Eic U

death of children : Col 7q 9 Bl
(A) Under one year of age (A) THaH Y FH @
(B) Under five years of age () T aﬁ 4

(C) Under one month of age € T t@q g &

(D) None of these (D I T

o S e v s o
Which method will be used to find out e 31T5|'T§f T ol 2014 F Ed

the value of year 2014 from the follqwj i T ¥ fer i w fafr e 7 3w
data ? i ST ?

Year

Percentage of @ Frdor ufgem 5 6 8 9
Investment

(A) Direct Binomial Expansion Method (A) & fre forame ferfe

(B) Newton’s Method of Advancing (B) A I EI"TITﬁ =R fafy

Differences
(C) Lagrange’s Method (C) wmisl i fafy
(D) None of these (D) T 4 g T

SPACE FOR ROUGH WORK / TR w1 o fod smiE
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53. Who has developed the Arc method of ~ 53. W7 &t @ra &I AW % =19 fafy &1 fawm
measuring the elasticity of demand ? forem foran B2
(A) Flux | (A) T
(B) Marshall (B) Tmia@

(C) Hicks (C) T
(D) Baumol (D) dmE @

54. If a coin is tossed total N times and an 54, 99t @:ﬂﬂﬁ vt % STarid n @Ay
event has occurred m times as ‘success’ Tyeon LEN T afg Th fasr =
in a series of n independent trials under N sR 3R we % 9 H TH
the same essential conditions, then the B A m/N § STIE &I F0
ratio m/N is called : ?

(A) Empirical Probability Q AY stwifas gifiehdar
(B) Statistical Probability . O (B) wifemhia i

55.

(C) Relative Probability (C) Hm wifreral

(D) Relative frequency O\&& (D) Terdl s Frer wiferdr

*

In a large populati \\eterogeneous 55. Tk I fafi= sifyereron ot Tmfte o s1er
characteristi % ost appropriate % fore suger faeeA fafy deft -

method o@ to be used is :

(A) Random sampling with (A) ufess gireem gfaen fafy @
replacement

(B) Random sampling without (B) wrgfomeh gideem o wiqeena fafy
replacement EY

(C) Stratified sampling (C) wfta yfaaaa fafy

(D) Purposive sampling (D) Wy wfred fafy

SPACE FOR ROUGH WORK / ¥% T4 & fed smig
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56.

57.

58.

(A) 2.5

(B) 6.4 Q
(C) 6.25 6
(D) 10 ‘\

The main objects of “statistics’ are :

(A) Analysis of past facts and figures

56.

SR 31 % e e ¥
(A)  aehrer ael s e ST

(B) Comparison of present analysed
facts and figures with past facts
and figures

(C) ascertain the reasons for current
changes and prediction of a future
trend

(D) all (A), (B) and (C) in combination

If regression coefficient byx=0.5,

correlation coefficient rxy=0.80 and

variance of y is =16 then variance of X

will be :

\Q ‘
In chronolog‘l\’&assification, data are
classified on the basis of :

(A) class-interval
(B) attributes
(C) time

(D)

space

57.

58.

(B) AT ALl W fagerTul Hh SR
syerehTeri el 9 qer L

(C) o B B T TRl 3 RN S

ayrelt Wt o1 e T
(D) sqﬂaaaﬁ(A)® [ (C) Tt
N
Ife g '(%yx)=0.5am‘vﬂguﬁm
() y wa (o3) = 16 AAMX
Q (o%) = = e
0 (A) 2.5
(B) 6.4
(C) 6.25
(D) 10
arriterTor i THeh! 31 Aol f
¥ SR W TR SR §
(A) R
(B) I
(€ =
(D) ®&H

SPACE FOR ROUGH WORK / T i & o s
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59. If the rank correlation coefficient (r,)
between two sets of ranks is equal to 1’
(ry=1), then we conclude that :

(A) the ranks awarded by two judges
are same
(B) there is perfect association between
the ranks awarded by two judges
(C) all difference di’s are zero
(D) all the above
60. If a random experiment results in (m+n)

- exhaustive, mutually exclusive and
equally likely outcomes (cases) out of
which ‘m’ are favourable to the
happening of an event, then the
probability of happening of "A’>P(A) is
defined as :

P(A) = - Number of cases favourable to A
+ Total number of equally likely ca

(A)

c no. of unfaw&ble ases
© Total no\’bases
L 2

(D) None of the
The ptomo@
element :

(A) Discovery of business opportunities

(B)

(C) Investigation and assembling

P(A) =

61. enture involves the

Organization of funds

(D) All the above

59. A% Wl it & vy ¥ e Yor-wegry.
TN =12, @ =7 Freehed Freorar & s -
(A) 2 ST GRI e o TR T ),
(B) a‘rmﬁ'mﬁqw%&sﬁv@ﬁ,{m:

gl

(C) Wl iR di's 1 R v ¥
(D) SwWF Tty

60.

_ A YR & i aRferfel w gen

L g ¢
(D) SuiEd HE e

61. AR STt I wigmen 37 H arega wifte war
g
(A) aEEiFs sEEd & @
(B) Y = TN FHET ,
(C) WEYHIYES BMHeT w3 wH

I W TR HE

(D) Sudem |sft

SPACE FOR ROUGH WORK / 7% & & fordr s
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62. - On the basis of following data :

Local town A Standard town B

62. Te STihel o STMHR W :

A" ARA yofid TR B

CTude de_ath rate 22.50% (per million) E.S(Vo(per million)
Standardized
death rate

23.25% (per million)

We conclude that :

(A) Health conditions of both the towns

are similar

(B) Town A is more healthy than town
B

(C) Town B is more healthy than A
(D) Cannot be decided

63. Major techniques of Business forecasting
is:
(A) Mathematical projection
(B) Time series analysis
(C) Modern econometric m
L 2
gram will be

(D) All above

64. Which of the fol
used for the di
of data of ‘Tota
the past eight census’ ?

atic representation
opulation of India for

(A) Simple Bar diagram
(B) Pie diagram

(C) Square diagram
(D) Rectangle diagram

&@

sreifira T, X 22.50% (9 Ffer) 22.50% (3| )

wft g . 23.25% (afe fafead)

g forsspd ket & o6
(A) 2 T Y e feaf B

(B) WA,B@@H&@W%

(D) Swr @l

64, T H T fog ot w1 AW foRe ST, S
= frseh ane S H 9Rd w3
e & fae e w2

(A) @ gue-fad
®) w-f==
() =-fot
(D) eEE-faa

SPACE FOR ROUGH WORK / T% T & fod e
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65. Histogram is used for the presentationof  65. 7 H ¥ forw yeR &Y ooft % TeeH & ferg

the following type of series : ST fi- SRt o1y foR S g
(A) time- series (A) FHIEi-guit - 7
_(];) continuous frequency distribution (B) stfafes= g faawo

(C) discrete frequency distribution (C) Hfed smgfa faa

(D)  individual observation (D) =HAfRTa 3TaciisR

66. The probabilities of appointment of one
of the three persons - a politician, a retired
IAS officer and an educationist as the
vice-chancellor of a University are 35%,
25% and 40% respectively.  The
probabilities that standard research
activities will be encouraged and
promoted by them if they are appointed
are - 0.4, 0.8 and 0.9 respectively. What
is the probability that research will be,

promoted by new V.C. ?

(A) p=0.80 @ (A) p=0.80
(B) p=0.70 &Q (B) p=0.70
(C) p=0.75 . \ (€ p=0.75

(D) p=0.95 o (D) p=0.95
S

67. The desired % of accuracy in a 67. WAy sTg-ye o IRYEAr ®1 eTifer

statistical investigations depends on : A e o it et @

(A) nature of problem (A) | i YHfg

(B)  object and scope of investigations (B)  STTHYM 1 ¥ T &
(C) available resources (C) SHetsy e

(D) all of these (D) W Tt W

SPACE FOR ROUGH WORK / T% &Td % ol Wi
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68. Which role is most important for 68. Ial % forg S ‘{fﬁ%"{m%r_@r‘{ﬂfﬁ

entrepreneur ? 7?2
——{A)—As—an—innovator—of —ecomomic —(A) —aTifeF qﬁ—ﬁ—ffﬂ??ﬁ’ﬁiﬁ?ﬁq—ﬂ— ===
growth
(B) As generator of employment (B) USTIR & el F Gorehal o B9 |
opportunities
(C) Balanced regional development of () = & g gfoa e
industries
(D) Export promotion and import (D) STEa-gfaeeT e 6 EY
substitution &9 ()
.
L 4
69. What are the components included in  69. 2 ERIRED 31agd 1§ ?
Business opportunities ?
(A) Introduction of a new product (A IS b1 SN H M
(B) A new method of production T IeATEHA TR 1 FANT
: .
(C) A new market % LI EICIEIN EIRCIS]

(D) All the above & (D) EXRESAIR]

70. Which is not included in stimg& role 70. =T faw™ HTdEHT & ottt s foRa
of EDP ? SR i § wnfie el §7?

L 2
(A) Developing @eial and (A) eeIEhTE U qehriaht et oh fershre |

technical sk

(B) Promotes and = reforms (B) SETYiET 1 SHEER TE s sl Sgrl
entrepreneurial behaviour and T GUR FHEAT
values.

(C) Procurement of fund. (C) hIN hl ST LA |

(D) Motivational training and building (D) wfvtere & fow Wa &E1 @ STgH
proper attitude. gfteshror @1 FrA(oT ST |

SPACE FOR ROUGH WORK / T &1 & forér s
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71.  Coefficient of correlation determined by ~ 71. EWHl fa=ied &fd g0 @ wegwery o
concurrent deviations method indicates Share e i sramr R
the : i
(A) degree of covariation (A) weufierta =t 7
(B) direction of covariation (B) weulteds =i faun
(C) direction as well as degree of (C) weuftads st AEn Td fown g1
co-variation {
(D) none of the above (D) SR *E ??®
72.  Which is the scientific method to measure 72. 3¥ BﬁT, ST %I /A i
the inequality of income and assets ? CEIIEED % T 7?2
(A) Pareto distribution | (A Feraon
(B) Lorenz Curve EED
(C) Gini - Coefficient Q )& firt onis
(D) None of these . 0 (D) T § &g
73. Type-I error in 'Testing of thagis 73, ot wiferent afeea & wedfemar wemo #
occurs when, the relation 4o Sestif¥e for “gerr @ife’’ 1 FIZ T9 S B ®, S
null hypothesis (Hy) Altdrnative A IR (Hy) W& Sehfeqss TRehed
hypothesis (H,) is as follotys" H,) % sitel 9ierr st a9y Heit 39 TR
yp 1
. @ |
(A) Reject ”@v is true (A) I REE (Hy) ¥ § W wdem
T AR T B
(B)  Accept Hy when H, is false (B) I 9ieheq (Hy) 1849 %, Wy Them
Y WHR F ¢
(C)  Accept Hy when Hy, is true (C) I URehed (Hy) W B 3K wdem
8 SR A B
(D) Reject Hy when H, is false (D) [ UHEHeHT (Hy) 3TH § 3R wdiaor
Y TR HI B |
SPACE FOR ROUGH WORK / % & & f&ad sne
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74.* Who had propounded “Theory of  74. ‘'Seriicidl % wiwpiash qedi & fagia’ =

75.

Cultural Values of Entrepreneurship” ? gfure forem foman o1 ?
() Keight (4) M| =
" (B) Max Weber (B) T IR
(C) Thomas Cocharan (C) o HERA
(D) Hagen (D) A @
O
Each of different ‘orders’ in whicl.‘r a 75. Uk fafi= ER@I % T 3 gEEl
number of given objects (n) can be %‘a’hﬁﬁﬁﬁ FEA () HAFS (@)

76.

arranged by taking some or all of them
(r) at a time is called :

(A) Combinations
(B) Permutations

(C) Factorial

(D) Mathematical Probabihty\&Q

Analysis of variance i Q 76. TELU - TgeINo] 1 SUR feRan S ®
(A) Testingof @ce of “difference (A) TN & 3R A ESIRCHIRNE
in variances :
(B) To test the homogeneity of data in (B) G T SR W SR HH T
two-way classification iRl 1 YT o Tefehdl T
(C) To test the linearity of regression (C) wHFIu referar Tda & fog
(D) For all above (D) S |t & fag

SPACE FOR ROUGH WORK / T o & fd e
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77. What is the probability of drawing a 77. e W 52 90 ol TH 71§°r g WQ‘E EIRGH
diamond or a king from a pack of 52 1 T GG vl ST ot wifrenan St 2
shuffled-cards 27—

(A) 13/52 (A) 13/52
(B) 4/52 (B) 4/52
© 4/13 (© 4/13
(D) 1/13 (D) 1/13

78. Which statement is not correct about Law 78. T % fram & | I HET TR
of Demand ? He?

(A) It shows inverse relationship (A) g %6 T TR 3 < frmda
between price and quantity &I FAAT G |
demanded. 0

(B) Itis an qualitative statement. T Teh T[UICH HeA T

(C) It is an quantitative statement. € Tk TRAMNIHS HeH |

(D) Giffin Paradox is an exception COQ (D) fiftFa =1 foienwme @i & frem &1
Law of demand. ‘2 TS |

79. For asample of n individ ula for Ifg fodt yfacel 4 @ IFR n @ @

coefficient of contmgeSCV I Tl R A TS
2
X
A A) C= [F———
B \}'_YQ’ A (R
2
() B C=, %5
ny
2 2
© Cc=-X © c=-L
X~ +n X~ +n
2 2
D)y C= 2X D) C= 2X
X° +n X" +tn
SPACE FOR ROUGH WORK / % &1 & fa& wrg
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80. “A well developed market and efficient 80. ‘‘UF =B TE Y fowfag IR @ R
economic  policies ~ faster  the anfdfer Al S i U 98 e 9
entrepreneurship in a big way.” M TR Rl
Who had developed this theory 7 3 fagia &l foaq faepiaa fearar?
A) J. Schumpeterv (A) S ‘\’Imﬁ’&

(B) G.JF. Papanek and J.R. Harris (B) Sh.uw. T iR IR SR
(C) Weber (C) &=
(D) Thomas Cocharan (D) ¥ HT=R

0

81. Find out value of ‘b’ under formula  81. = STI'GITQ ¥ -{1—5‘ J a+tbxr &

y=a+Dbx from the following data : T ‘b
Year - 1996 1997 1998 1999 2000 2001 1998 1999 2000 2001
('Soaggs?) = 40‘. 45 44 43 47 @ 45 44 43 47 51
(A) 14 ¢ QA) 1.4
(B) 1.5 % (B)
© 13 & ©
(D) None of these T 9 FiE T

82. Who &@% Linear 82. T & 9 foe ‘&g yeer' o1 wfaured
Programmmg from balow ? o 8?2
(A) G.B. Dantzig (A) st emfam
(B) R. Dorfman (B) R TR

©
(D)

W.W. Kooper

L.V. Kantrovich

(C) ==Y = 7N
(D) TAE. H=Ue=

8120/ HE-FI/RCE-E
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83. Which is the scientific method to measure ~ 83. {THE T o ek fafy wE € 8 ?

Index Number ?

(A)Laspeyre’s method (A) @rerEy @l fafi
(B) Paasche’s method (B) TR @ fafy
(C) Fisher’s Index Number (C) TFRR % geEehich
| (D) Consumer Price Index (D) UK T

84. Which method is generally used and  84. WHE’!%@ g % forg wr fafy

accepted to measure the cyclical FN@W e SR w8 ?
fluctuations ?
(A) Residual Method aeré’rsr fafy
(B) Direct Method Q (B) Wy fafu
(C) Harmonic Analysis Methmé&o | (C) TUHb forgereo fafy
| (D) Method Cyclical Aeraggs (D) =kt e fafy

A\

85. Which is smethod to estimate  85. WG H UEA T AN HA I Gkl

National I& W, [ndia ? : fafy dmfer 82

(A) CenBus of Production Method (A) e wirorn fafy
(B) Census of Income Method (B) 3 wHwor fafy

(C) Expenditure Method (C) = or fafy

(D) Social Accounting Method (D) Grmfsies T faf

SPACE FOR ROUGH WORK / T% &id & for&l s1vg
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86. Which is the formula of Time Reversal 86, 73 Sohral T T T 87
Test ?
(A) Py xPpp=1 (A) STER o Y STHR HHH 1] o 1

o w1 YIhih

3 ,
(B) P01XQ01=%;3;‘ (B) oMuR o T YR AR =y i

Ued GEHH X MR T I ER

TR = Y IFIH

_ i e e I AT
3TMHR &Y ¥R oS i A

(C) Py xPyyXPyy_ _ _P=1 (C) 03y v TR % fore Fhieh TR
o o1 1 8 PRSTIER AR Faehieh T
feh X Y el SR AMERT

b 1 TUAEA 1 F TR
(D) None of these @ﬂ T g T

87. Which method is best to solve the problems YA % St UEE hi T
of transportation under Line T HT % foa i i fafy 4w ¥

Programming ?

(A) Least Cost Method &Q (A) =R o fafy
o

(B) North - West Corner (B) TR-uf¥=m iR fafy

(C) Vogel’s Approxinfatign*Method (©) hifiTet wf-ehe faftr
VAM ¢

(D) None o%e&\ | (D) T8 ¥ &g T

88. Who is entrepreneur ? 88. ST HH 8?2 ‘
(A) Innovator (A) ECPERED
| (B) Capitalist (B) gsfrufa
(C©) Manager (@) FsR
(D) Inventor (D) anfashrER

SPACE FOR ROUGH WORK / % &1d & fort -8
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89. Who has developed an Economic Growth ~ 89. o T ST I Tevede & w9 H i
Model as an Entrepreneur is an i 1 Aigar fomwfaa fora 2

innovator ?

(A) Alfred Marshall (A) RS AR
(B) Joseph A. Schumpeter (B) S T YA
(C) J.R. Hicks (C) S e
(D) Paul Samuelson ' (D)
O
.. O
90. Who has invented the Simplex Method ~ 90. % famesm fafa w1 sfashr
of Linear Programming ? X
(A) G.B. Dantzig (A) Sita gwefam
(B) N. Paul Loomba Q (B) T Gict TfFn
*

(C) William M. Fox %O () faferem @, we

(D) Galton &Q (D) TmeEA

91. If NRR &Y will be effect on  91. 4R YE TS L THE A ek ¢ ol SHAEAT

populat& TR N YT B ?

(A) POpulation will increase (A) SEEE e

(B) Population will decline (B) SHEEn pralil
(C) Population will constant (C) e feer il
(D) None of these (D) TH | w8 Tl

SPACE FOR ROUGH WORK / T% & & foa sme
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92. Which is a permanent and regular 92. 9RA ¥ Siad ¥ Faftd siiehs Wa F3

method to find out Vital Statistics in e Tt v frafha fafy o @ §2
India ?

" (A) Census Enumeration _(A)—WTUHT—ﬁTfH -
(B) Registration Method (B) ustraa fafy
(C) Adhoc Survey (C) = waem fafy

(D) Hospital Records (D) W%W@&

93. The probability that a ‘leap year” selected 93, <3 mm Tl ‘i o’ 7 53

at random will contain 53 Mondays is : iié TR (YTFIaRdt) 1 |

(A) 2/53

(By 2/365 /365
< 2/7 ¢ C 2/7
(D) 2/12 @% (D) 2/12
In a distribution, the diff \

94. e of two forell sicA | ) foRiwarsti o 3.1 &1 S’ 91
qualities is 3.1, thei eis 72.67 and S EREN AR 72.67 SR AL A
median value is $6%8. Ehe coefficient of 36.18 ¥ | T[0Tia ST TTIAT BT
skewness w%

(A) +0.1 (A) +0.1
(B) -0.1 (B) —0.1
(C) +0.11 <€) +0.11
(D) +0.09 (D) +0.09
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95. Let the two populations N(p,l, 0‘%) and  95.

N(pz, c%) be the two samples and their

< g Fed Nps, o3) W Nfuo, o3)

o gfeesisl fomeR! 7eg X1 W& X2 W& TE

averages are X1, X2 and variances S%
and S% with sample size ny and n,
respectively. To test the hypothesis
Hy : wq=n, against H, : uy # iy when

0'% # 0'% can be tested by :

(A) Cochran’s Test

" (B) Behrens - Fisher test -
(C) both (A) and (B)
(D) neither (A) nor (B)

96. Which is third difference from below Q

(A) Yl"’yo . O

(B) Al-Aj

97.

be, A and B being independent ?
(A) 27
B 21
() 35
(D) 32

97.

s? @ g3 aﬂtmm;w:nlqafnz%
1 foren T srEuren Weaw % faw afg
T TRHT (Hy) : 1y = by T AHETH
TREET (H,) : iy # pp T 07 # 05 &
o B STET B

(A) HIRTH fafa

(B) ,aﬂ-—@nqﬁwﬁfa

(C @ (B) <

@ (4) 7 (B)

Y gl SR B WE?
(A) Yi-Yo
(B) Al-A}
(©) A}-43

(D) A3-A3

I 512 Jeroi § 72 A 6 192 B&, @ A 3R
B ¥ wds 89 W AB ¥ fora Jeror g0 2

(A) 27
B) 21
(C) 35
(D) 32
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98. " If in Wilcoxon's-signed rank test, the 98, Ife wfagst w1 &), @ foreepiaa-Ty

sample size is large the statistics ‘T’ is ST A T 1 29 %1 A 29T
‘‘‘‘‘ distributed with Mean :
S B LB IR Ay e -
4

o nn+1 : nn+1

© DR+l @ nen+1)
4 4

by mA-1 p) no-1 '@

(D) 1 (D) :

_ .

\ M
99. According to Ratio-scale, which of the 99. SuId wWY STTER 3y A9gUe W

following are shown on the vertical e fepar e & 2 |
scale ?

(A) logarithms of values [ o ST

(B) index numbers @ [BERUED

(C) absolute values i ¢ O(C) [RICE R

(D) percentage values % (D) wfawa 7o

100. Which is the main source o @ial 100. T # SR TS &% wow W wF o

data in India ? . 872

(A) Census of Manufac dustries (A) Tafrator stenfires dmomn

(B) Sample Surv & ufacturing (B)  Trmfoft 3ainii o1 ~errest wderor

Industrie
(C) Annual Surved of Industries (C) SEFT 1 anfifer wdferor
(D) Index Numbers of Industrial (D) irifie Scres g
Production
-000- -00o0-
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e
1.  gauva-yfent B fr wm @

-1 50 3ieh

1. T F 2. G faE 3. W w4, IR I AR TR 5. HH
Tifo 6. | Taedt 7, W STiS 8, TSF I MTST ST WA I

WET-11 50 3ich
et fave 4 i O
UTT-1 T HIT-T1 Em ¥ . ()
e e 1 ik 1§ 1 e 100 U Y APEE € \‘
2. TY % S, & T OMR SW-Te (SER-9e) W 3
3. ol SR SifEd F W 1/4 3R FS SE | .
4. T F T ¥ ForFoR A A o 1 T A Tl
5 et g STHEEE 9 H/a e 7| wE

OMR FR-¥2 (eE-¥ie) = Fam
< =1 v w1 faeae arﬁ:u%«%mwagmﬁrml

Note : &
1.  This Question Boo confains parts namely :

e
Part-1 0\\ 50 Marks

& §e 2 General Science 3. General Mental Aptitude 4. General

1. General K

Knowledg Suter 5. General Mathematics 6. General Hindi 7. General English
8. Kn State Language
Part-1I | 50 Marks

Related to Statistics
Part-I and Part-II are compulsory.

Each question carries 1 mark. All 100 questions are compulsory.

2.  Indicate your answers on the OMR Answer-Sheet provided.
3.  1/4 mark will be deducted for each wrong Answer.
4.  Use of any type of calculator or log table and mobile phone is prohibited.
5. While using OMR Answer-Sheet care should be taken so that the Answer-Sheet does
not get torn or spoiled due to folds and wrinkles.
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